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Tpuronomerpuuyeckue ypaBHeHHSsI

Apkgynukyuu. Onpeoenenus

arcsin a =x — sinx = q, —% Sxi% (—1<a<l)
arcosa=x —» cosx=a, 0=<x<nm (—1 <a<l)
arctga=x — [gx =aq, —% <x< %
arcctgga=x —-» cigx=a, 0<x<nm
Ceoiicmea apkgynkuyuii
. _ . . T
arcsin (—a) = —arcsin a arcsin a + arccos a = >
arccos (—a) = w— arccos a n
arctg a + arcctga = —
arctg (—a) = —arctg a 2
arcctg (—a) = & — arcctg a
Dopmynvl peuwteHuss MpUZOHOMEMPUUECKUX YPAGHEHUT
sinx=a (-1<a<l)
X = arcsin a + 2nn, X =m—arcsina + 2rxn, neZ

cosx=a (-1<a<l)

X ==xarcosa+ 2nrn, ne’l

gx=a cigx=a
x=arctga+nn neZ x=arcctga+nn nezl
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Yacmnuuwie amyuau mpuconomempudecKux ypa(menuﬁ

sinx =10 cosx=10
X = 7n, ne/ x=%+7m, ne/
sinx=1 cosx =1
X = %Jr 2nn, ne’z x = 27n, neZ
sin x =—1 cos x =—1
x=—%+27m, neZ x=rn+2mn, neZ
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